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↑
ψ11(r)Eb(υ=11)/De = − 0.00275

↑
ψ8(r)

Eb(υ=8)/De = − 0.0364

↑
ψ5(r)

Eb(υ=5)/De = − 0.1687
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Eb(υ=14)/De = −1.30x10 − 8

��� �
�
�� ����� �
�� �������������

� ��
 ���
 !������� 
"�
�� ������ ��

���
��
 ��� �
�� �����
���� ������

� ���
 !������ ��#���!�
 �����
� �
��

������������ ������ ���� ������



���� 

 ��	 �����	��

↑
ψ11(r)Eb(υ=11)/De = − 0.00275

↑
ψ8(r)

Eb(υ=8)/De = − 0.0364

↑
ψ5(r)

Eb(υ=5)/De = − 0.1687

100 101 102 103

r / re

Eb(υ=0)/De = − 0.8785

↑
ψ0(r)

100 101 102 103

↑
ψ14(r)

Eb(υ=14)/De = −1.30x10 − 8

��� �
�
�� ����� �
�� �������������

� ��
 ���
 !������� 
"�
�� ������ ��

���
��
 ��� �
�� �����
���� ������

� ���
 !������ ��#���!�
 �����
� �
��

������������ ������ ���� ������

�� � �
�!��� ��
� ������� ��
 ������

����$�����
� 
%!�����  �� �!�� �
�
���

� &� ����� �
� �
���� ���� ���
'

� &!�
����� ���
������� ���� � �
�� ��(


�!�����
  �� ����� �������
� ���� �
%!��



"��
�
�� ����
 ������ ������'

� )��� �
�� ����
 �!��
� � ���
�������

�
�� #����� ��

� ����!�������

 �� �!�� �
�
�� %!��
 *+, ���
����
'



��� ��	
 
� ����	� �



���� 

 ��	 �����
�� �

�����  ��� ��
 ����
������� ������ ����$�����
� 
%!�����

�%�-�.

��%

/ ��-�.�-�. �� ����� �-�. /
0�

�%
1� � � -�.2

3 �
 ��� ��# ��
 ������ ���������
 � � 14��.

� ���� � �
� ������ �������
 ���� � 5���
 ������ 	 / 	-�. � 1
� �2 � ���

� ��

 ��
 �!�����!���� �-�. /
�

�-	. 
-	. ��
�
 �-	. �

��-	.

�	

� �!� ��6
�
����� 
%!����� �
���
�

�%
-	.

�	%

/ � ��-	. 
-	. �� ����� ��-	. / �-	.% �-�-	.. 7 � -	.

��� ���� �-	. ��� � -	. �

���
0�
�

8
9

�
��

�
�%

�
#
�� ���� �� ��
 �
5������

� ��
 �������
 ��##����

:!� �
� ��6
�
����� 
%!����� �� 	 ��� �
����� �
 ����
� !���� ������� ��� 	�
�

����� �
 ���������	 !�
�  �� ��
����� ��
 ����
������� 
%!����� �� � '



��� �� �	 �	��	 ��	 ���
���	 ����
�� �

)�
�
 ��
 ���� #����������
��� �!� � #�����!����� ����
��
�� �����
 ��

	-�. /

�� � ;��

�� 7 ;��

��
�
 � �� � #������
 �
�� �!��
� ��� ;� � 5"
� �
 
�
��
 �������
�

<��� ���� �����
� ��
 ������ 1
� �2 / 1�=� 7=2 ���

�-	. �

��-	.

�	

/

0;�
�

-= 7 	.
�

�
��

-= � 	.
�

�
&�

/

-�� 7 ;��.%

0� ;�� ����

� -	. /

=� �
��

-=� 	%.%

<
 �
�� �!� �
� #���
�!�
 �� �##��������� �� � �
� � =>?�
�
� ���
� ��-0�� �.

#��
����� 
�
���  !������� �'(-�. / ��
����

�
�%�

� 0
���

�
��
�

���� #����
�
��

����
� �� ���� ��
 ����
�� �
�
� �� 
"��
�
�� �
�
�� ��!���

� ����� 
����� ���) �*�+ , � � �-	*�� ��+ . �*�+ , �-	�� �-	/�*� � 0�+1� . ��� �*�+ , ��������*� � 0�+� !



��� ��
 ���
 ��-@�9. #��
����� ������
�
� �� ����
 20� �
 5�� -���� � / =� ;� / �� .

↑
φ14(yp)Eb(υ=14)/De = −1.30x10 − 8

↑
φ11(yp)

Eb(υ=11)/De = − 0.00275

↑
φ5(yp)

Eb(υ=5)/De = − 0.1687

Eb(υ=8)/De = − 0.0364

↑
φ8(yp)

-0.2 0.0 0.2 0.4 0.6 0.8 1.0
yp(r)

↑
φ0(yp)

Eb(υ=0)/De = − 0.8785



��� ��
 ���
 ��-@�9. #��
����� ������
�
� �� ����
 20� �
 5�� -���� � / =� ;� / �� .

↑
φ14(yp)Eb(υ=14)/De = −1.30x10 − 8

↑
φ11(yp)

Eb(υ=11)/De = − 0.00275

↑
φ5(yp)

Eb(υ=5)/De = − 0.1687

Eb(υ=8)/De = − 0.0364

↑
φ8(yp)

-0.2 0.0 0.2 0.4 0.6 0.8 1.0
yp(r)

↑
φ0(yp)

Eb(υ=0)/De = − 0.8785

↑
ψ11(r)Eb(υ=11)/De = − 0.00275

↑
ψ8(r)

Eb(υ=8)/De = − 0.0364

↑
ψ5(r)

Eb(υ=5)/De = − 0.1687

100 101 102 103

r / re

Eb(υ=0)/De = − 0.8785

↑
ψ0(r)

100 101 102 103

↑
ψ14(r)

Eb(υ=14)/De = −1.30x10 − 8



��� �� 
	�	�� �����	�	� ����
�� ���
���	
 � ��� �� �

)
��� ���� ���� ;� ��� �����
 
6
��� ��  ��!� �� � �� ��
 ��##���� 	 /
�� � ��
�

�� 7 �� �

��� &!�
��� ���
 !������ #��#�������� ���� �
�� ��(
 � � ��
 
��
����!
 
����

A���3-�. /

�
%

0�
�

��
094

�	 �
�



�- ��
.

�	

�%
�	

��� 5"
� � � ���� � �� ������(
 
����  ��


��� �
�
� � �!� ���
� ��-0�� �. #��
�������

υ
0 2 4 6 8 10 12 14

0

2

4

6

8

10

12

14

16

αopt

n = 6

n = 3

n = 4

n = 5 10 11 12 13 140

1

2

3

4



��� �� 
	�	�� �����	�	� ����
�� ���
���	
 � ��� �� �

)
��� ���� ���� ;� ��� �����
 
6
��� ��  ��!� �� � �� ��
 ��##���� 	 /
�� � ��
�

�� 7 �� �

��� &!�
��� ���
 !������ #��#�������� ���� �
�� ��(
 � / �	 � 
��
����!
 
����

A���3-�. /

�
%

0�
�

��
094

�	 �
�



�- ��
.

�	

�%
�	

��� 5"
� � � ���� � �� ������(
 
����  ��


��� �
�
� � �!� ���
� ��-0�� �. #��
�������

υ
0 2 4 6 8 10 12 14

0

2

4

6

8

10

12

14

16

αopt

n = 6

n = 3

n = 4

n = 5 10 11 12 13 140

1

2

3

4

� � � ��� � � �

� *+, ���
����
 �� �#����(
 �  ��


��� �
�
�

� �����" 
�
�
��� ����!������� �
%!��
 !�


� ���
 �
�� � ��� �  �� ��� �
�
��

� ���
�����  !��� ��##
��  �� ��


�
�� ���� �
�
� � � / B� > �� 9 �

������ ���� � ������� ���� 
�� ��� �����	 �
 ��� 	�	��
	 '



������� ��� ���
����
�!��� #��
������ ���
 ��
 �������� ����?����
  ���

�-�. � �� ����
� ���� -
"�
#�  �� ���?#��� ����
�. � / B� >� 9 �� 8�

�
����������� ���!�
��� ���� ����  �� �
�
�� ����� �
�� �
�� �������������

��
� ���� � ��
 ����������� �����
� �
���� �
��

� ��
 �!����� #�����

��-	. � ���������	 � � /

�
0
� =

<��� ���� �����
 � � ��
 ���
� � ����
 ���
 !������� 
�-	. ���!�� �


�##��"����
�� 
%!���� �#��
� C ��
 ����
�
 ���!�����  �� 
Æ��
�� ����!�������



100 101 102 103

r / re

↑
ψ(r)

LJ(12,6)
υ =14

Eb /De = 4.77×10 − 9

↑
φ(yα)

α = 2.5

↑
φ(yα)

α = 2.0 = n/2 − 1

-0.2 0.0 0.2 0.4 0.6 0.8 1.0yα(r)

↑
φ(yα)

α = 1.0

α = 1.5



100 101 102 103

r / re

↑
ψ(r)

LJ(12,6)
υ =14

Eb /De = 4.77×10 − 9

↑
φ(yα)

α = 2.5

↑
φ(yα)

α = 2.0 = n/2 − 1

-0.2 0.0 0.2 0.4 0.6 0.8 1.0yα(r)

↑
φ(yα)

α = 1.0

α = 1.5

100 101 102 103

r / re

↑
ψ(r)

LJ(8,4)
υ = 14

Eb /De = 1.30×10 − 8

↑
φ(yα)

α = 1.5

↑
φ(yα)

α = 1.0 = n/2 − 1

-0.2 0.0 0.2 0.4 0.6 0.8 1.0yα(r)

↑
φ(yα)

α = 0.2
α = 0.5

��� ���� ����� ��� 
���� ��������� �
 �
	� 
�� ��� ���� ��	� ����� ��



)�
 �
�����!� � ��
 D�!����!�
  �����E ��-	. �� 	 
 = 
"#����� ��
 ���!#�

���#?�6 � �
	�  �� ��
 �
�� ���� �
�
� - �� � / 9� B.� 3� ���� ����
�?	 �
����

��-	. / �
�

0�
�%

�
0;�

�
�%

1�� �2



-= 7 	.
�

�
�%

-= � 	.
�

�
&%

7

=� �
��

-=� 	%.%

��� ��
 �
�� ���� �
�
� - � / =9 . � 

�!� ���
� ��-=0�B. #��
������

α = 1.5
Eb = 10−7

y
0.900 0.920 0.940 0.960 0.980 1.000

-500

0

500

1000

α = 1.0
Eb = 1.79×10−5

α = 1.0
Eb = 10−7

∼
Q(y) α = 2.0

Eb = 1.79×10−5

α = 1.5
Eb = 1.79×10−5

α = 0.9
Eb = 1.79×10−5

104

106



)�
 �
�����!� � ��
 D�!����!�
  �����E ��-	. �� 	 
 = 
"#����� ��
 ���!#�

���#?�6 � �
	�  �� ��
 �
�� ���� �
�
� - �� � / 9� B.� 3� ���� ����
�?	 �
����

��-	. / �
�

0�
�%

�
0;�

�
�%

1�� �2



-= 7 	.
�

�
�%

-= � 	.
�

�
&%

7

=� �
��

-=� 	%.%

��� ��
 �
�� ���� �
�
� - � / =9 . � 

�!� ���
� ��-=0�B. #��
������

α = 1.5
Eb = 10−7

y
0.900 0.920 0.940 0.960 0.980 1.000

-500

0

500

1000

α = 1.0
Eb = 1.79×10−5

α = 1.0
Eb = 10−7

∼
Q(y) α = 2.0

Eb = 1.79×10−5

α = 1.5
Eb = 1.79×10−5

α = 0.9
Eb = 1.79×10−5

104

106

� � � � = ��
 #������
 ����!������ � 

���� �
�� �
���� ���
� � 
"#��
�����

���
 !������ ��
?�6 !���� ��� ���
�

� � � / = ���� �
�� ����##
���� �!�

 �� � �
�
� �!Æ��
���� ����
 �� �

-����
� �!��
.� 
"#��
�����

���
 !������ ��
 �6 ����� ������ ��� ���
�

� �
����� � � = -��� � / 4�F .  ���
�


���� #������
 -
"#��
�����. �!����!�


��� ���
�
���
� ���
 !������ ��
 �6�



������

��
 ��� ����� ����	 ��������
��


� )�
 #�
�
�� �
���� ��

� �� �
�� �������� ������ �� ��
�� �
�
�� ����� �����
���

����
 �� ������������� ����� ��!�� ���
 �

� ����!���� ��#������
 �� ��
�� ���
�?

���
�

1 
���� ��
 ���� �
�
� � � 84=?�
�
� ��-B�8. #��
����� ���� �!�
� �!����� #���� ��

���� / = =4G @>8 ��� ������� 
�
��� ����� / =�>�=4��4 �2

� )�
 ���#��� ����
 ��� ���
�� ����� ��(
� �
%!��
� ��

 ���� �
���� �!��

���
 
��������� ���� ����
������� #���
�!�
�� ������ ���� ����� ������
 ���

*+, ���
�

� ��� D����
�E ��������
� ���� 
"������ �
����� C �!�� �� ����!���� � � �
���� !���

#��
����� ��� �������� ��� �
�
������� ������  �� �!��
���� #�
������������ �
�
�

��
 �
����� ��#�
�
��
��

� �� � �
 �!��� �
� � / �
% � = �

3 �

� ����
� ���!����  �� �
�� ���� �
�
� � � #��
�����

���� � � ����
� ����?����
 ����  �� � / 9� B � !�
 � / 4�F �



�	��  �	��� ����


�� ����	��
	
! �����	�
�� �	����


)�
 	��������� ������ � � ���
� #��
����� �� ��
 �������
 
 �
5�
� �� ��
 ����#?

�����  ��� � ��
 ������ ���
 !������ �� ���� �����	��� �������

�-�. � � -� � 
.

-0.2 0 0.2 0.4 0.6 0.8 1

ϕ(y)

y

De = 3230 cm-1

De = 2830 cm-1

-10 0 10 20 30 40

ψ(r) = ϕ(y)/g(y)1/2

scattering
length =

r / re

−16.009
scattering
length =23.729

De = 3230 cm-1

De = 2830 cm-1

� ����
������� ����!������ ���
����
� �--�.

�� �
�� ����
 �������
� -
���� � � =44� =444 .

��� ��
� 5�� �� �� ���� 
"#�
������

� ���� ������	� ����
�����	 ���������� ����� 	



�	��  �	��� ����


�� ����	��
	
! �����	�
�� �	����


)�
 	��������� ������ � � ���
� #��
����� �� ��
 �������
 
 �
5�
� �� ��
 ����#?

�����  ��� � ��
 ������ ���
 !������ �� ���� �����	��� �������

�-�. � � -� � 
.

-10 0 10 20 30 40

ψ(r) = ϕ(y)/g(y)1/2

scattering
length =

r / re

−16.009
scattering
length =23.729

De = 3230 cm-1

De = 2830 cm-1

-0.2 0 0.2 0.4 0.6 0.8 1

ϕ(y)

y

De = 3230 cm-1

De = 2830 cm-1

� ����
������� ����!������ ���
����
� �--�.

�� �
�� ����
 �������
� -
���� � � =44� =444 .

��� ��
� 5�� �� �� ���� 
"#�
������

����� ������	� ����
�����	 ���������� �����	

3� �!� �
���� �
 �
�
��

� #��#����
 
-	. �� 	 / =

� ����� ���� 
-		. �� ��
 #�
�
����

��� �
�� #����� �� �-�-		..

� 5�� ����
 �-�-		.. ���!
� ��

��
 �������� 
"#�
�����

� �����	 
	� � / = ��
 ����
������

�
���
���	 �� ��
� �����	��� ���
�� �



���������	��
��
� �� �	������� ���� ��� �������������� �� � ��������� �

������������������������������������������������������������������������������

! ��
�" �� �����
#

$���%���� &�� 
�'
'(
�'
�)�
 *�	� ��+�*, �� �� �--��#�� �--(�
#�

!� ��---�#� ��---#��

$���%���� &�� 
�'
'(
�'
�)�
 *�	� ��+�*, �� �� �#--����� �--��#��

!� ��---(�# ��---�#�

$���%���� &�� 
�'
'(
�'
�)�
 *�	� ��+�*, �� �� ��--����� �#--�����

!� ��----�
 ��---(�#

! ��
�" �� ������#

$���%���� &�� 
�'
'(��(��)�
 *�	� ��+�*, �� �� �---(���� �---(��#�

!� ��----#� ��----��

$���%���� &�� 
�'
'(��(��)�
 *�	� ��+�*, �� �� �---����� �---(����

!� ��----�# ��----#�

$���%���� &�� 
�'
'(��(��)�
 *�	� ��+�*, �� �� �#---��
�� �---�����

!� ��----(� ��----�#

������������������������������������������������������������������������������


